

Three Term Recurrence Relations for Szegő Type Polynomials

R.S. Lamblém, A. Sri Ranga,

Depto de Ciências de Computação e Estatística, IBILCE, UNESP,

15054-000, São José do Rio Preto, SP

E-mail: parareginae@hotmail.com, ranga@ibilce.unep.br,

John H. McCabe

School of Mathematics and Statistics

University of St. Andrews

St. Andrews, Fife KY16 9SS, Scotland

Resumo: We look at polynomials similar to the Szegő polynomials defined with respect to a linear functional \mathcal{M} for which the moments $\mathcal{M}[t^n] = \mu_n$ are all complex and satisfy, either $\mu_{-n} = \bar{\mu}_n$ and $\Delta_n \neq 0$ or $\mu_{-n} = \mu_n$ and $\Delta_n \neq 0$, for $n \geq 0$. Here, Δ_n are the Toeplitz determinants associated with the moments μ_n . The main objective here is to characterize these polynomials form a three term recurrence relation.

1 Introduction

Given the double sequence $\{\mu_n\}_{n=-\infty}^{\infty}$ of complex numbers, let the linear functional \mathcal{M} on the space of Laurent polynomials be defined by

$$\mathcal{M}[t^m] = \mu_m, \quad m = 0, \pm 1, \pm 2, \dots$$

The functional \mathcal{M} can be referred to as a moment functional.

Let Δ_n , $n = 0, 1, \dots$, be the associated Toeplitz determinants as defined by: $\Delta_0 = \mu_0$ and

$$\Delta_n = \begin{vmatrix} \mu_0 & \mu_1 & \cdots & \mu_n \\ \mu_{-1} & \mu_0 & \cdots & \mu_{n-1} \\ \vdots & \vdots & & \vdots \\ \mu_{-n+1} & \mu_{-n+2} & \cdots & \mu_1 \\ \mu_{-n} & \mu_{-n+1} & \cdots & \mu_0 \end{vmatrix}, \quad n \geq 1.$$

We consider the sequence of polynomials $\{S_n\}$ defined by

$$\mathcal{M}[t^{-m}S_n] = 0, \quad 0 \leq m \leq n-1, \quad n \geq 1.$$

where S_n for any $n \geq 0$ is a monic polynomial of degree n .

If the moment functional \mathcal{M} is such that $\Delta_n \neq 0$, $n \geq 0$, then it is easily seen that this sequence of polynomials exists uniquely. The following results can be easily established.

$$S_n(z) = \frac{1}{\Delta_{n-1}} \begin{vmatrix} \mu_0 & \mu_1 & \cdots & \mu_n \\ \mu_{-1} & \mu_0 & \cdots & \mu_{n-1} \\ \vdots & \vdots & & \vdots \\ \mu_{-n+1} & \mu_{-n+2} & \cdots & \mu_1 \\ 1 & z & \cdots & z^n \end{vmatrix}, \quad (1.1)$$

for $n \geq 1$ and $\mathcal{M}[t^{-m}S_n] = \delta_{n,m}\Delta_n/\Delta_{n-1}$, for $0 \leq m \leq n$, $n \geq 1$.

If the moment functional \mathcal{M} is such that $\mu_{-n} = \bar{\mu}_n$ for $n \geq 1$ and $\Delta_n > 0$ for $n \geq 0$, then the polynomials S_n are known as the Szegő polynomials (see for example, [3, 7]). In this case, \mathcal{M} can be represented by a Stieltjes integral with respect to a positive measure on the unit circle. The recent publications of the books [4] and [5] by Barry Simon has shown the importance and the renewed interest in studying these polynomials. The particular case where all μ_n are real, thus $\mu_{-n} = \mu_n$ for $n \geq 1$, is of special interest because of the connection with orthogonal polynomials on the interval $[-1, 1]$. For a recent paper on this particular case, we refer to [1].

If the moment functional \mathcal{M} is such that all μ_n are real, $\mu_{-n} = \mu_n$ for $n \geq 1$ and $(-1)^{n(n+1)/2}\Delta_n > 0$ for $n \geq 0$, then the associated polynomials S_n are also well known (see for example [2, 6, 8]). In this case, \mathcal{M} can be represented by a Stieltjes integral associated with a positive measure on the positive (or negative) half of the real line.

The objective in this work is to consider the polynomials S_n when the moment functional \mathcal{M} is subject to a less restricted condition than those assumed in [1, 2, 6, 8]. To be precise, we assume that $\mathcal{M}[t^n] = \mu_n$, $n = 0, \pm 1, \pm 2, \dots$, are all complex and satisfy, either

$$\text{A: } \mu_{-n} = \bar{\mu}_n \text{ and } \Delta_n \neq 0 \text{ for } n \geq 0 \quad (1.2)$$

or

$$\text{B: } \mu_{-n} = \mu_n \text{ and } \Delta_n \neq 0 \text{ for } n \geq 0. \quad (1.3)$$

When the moments are real both of these conditions coincide.

Under these restrictions (1.2) or (1.3), we call $\{S_n\}$ the Szegő type polynomials associated with the moment functional \mathcal{M} . We have for these polynomials

$$\mathcal{M}[t^{-m}S_n] = \overline{\mathcal{M}[t^{-n+m}S_n^*]} = \delta_{n,m} \frac{\Delta_n}{\Delta_{n-1}}, \quad (1.4)$$

$0 \leq m \leq n$, $n \geq 1$, when (1.2) holds and

$$\mathcal{M}[t^{-m}S_n] = \mathcal{M}[t^{-n+m}S_n^\bullet] = \delta_{n,m} \frac{\Delta_n}{\Delta_{n-1}}, \quad (1.5)$$

$0 \leq m \leq n$, $n \geq 1$, when (1.3) holds.

Here, the symbol $*$ is used to represent the well known reciprocal polynomials defined by $P_n^*(z) = z^n P_n(1/\bar{z})$ and the the symbol \bullet is used to represent the inverted (or reversed) polynomials defined by $P^\bullet(z) = z^n P(1/z)$. In both cases, P_n is treated as a polynomial of degree n .

2 Some basic properties

Theorem 2.1 *Let $a_n = S_n(0)$ for $n \geq 1$, where S_n are the Szegő type polynomials associated with the moment functional \mathcal{M} . Then the following hold.*

A.1) *The polynomials S_n satisfy the recurrence relations*

$$\begin{aligned} S_n^*(z) &= \bar{a}_n z S_{n-1}(z) + S_{n-1}^*(z), \\ S_n(z) &= a_n S_n^*(z) + (1 - |a_n|^2) z S_{n-1}(z), \end{aligned} \quad n \geq 1;$$

A.2) $|a_n| \neq 1$ for all $n \geq 1$,

when (1.2) holds.

B.1) *The polynomials S_n satisfy the recurrence relations*

$$\begin{aligned} S_n^\bullet(z) &= a_n z S_{n-1}(z) + S_{n-1}^\bullet(z), \\ S_n(z) &= a_n S_n^\bullet(z) + (1 - a_n^2) z S_{n-1}(z), \end{aligned} \quad n \geq 1;$$

B.2) $a_n \neq \pm 1$ for all $n \geq 1$,

when (1.3) holds.

Proof. The proof of this theorem, especially of parts A.1 and A.2, are similar to analogous results in [3]. Thus we give only the proofs of parts B1 and B2.

For $n \geq 1$ set

$$C_n(z) = S_n^\bullet(z) - \gamma_n z S_{n-1}(z) - S_{n-1}^\bullet(z),$$

where $\gamma_n = -\mathcal{M}[t^{-n}S_{n-1}^\bullet]/\mathcal{M}[t^{-(n-1)}S_{n-1}]$.

We consider C_n as a polynomial of degree n and show that it is identically zero. Clearly,

$$\mathcal{M}[t^{-m}C_n] = 0 \text{ for } 1 \leq m \leq n. \quad (2.1)$$

Since $C_n(0) = 0$, we can write $C_n^\bullet(z) = \sum_{k=0}^{n-1} c_k S_k(z)$ and hence

$$C_n(z) = \sum_{k=0}^{n-1} c_k z^{n-k} S_k^\bullet(z).$$

Using here the results of (2.1) for $m = n$, $m = n-1$ until $m = 1$ and noting at each stage that $\mathcal{M}[S_{n-m}^\bullet] \neq 0$, we successively obtain that $c_0 = 0$, $c_1 = 0$ until $c_{n-1} = 0$. Hence proving $C_n(z) \equiv 0$ and thus

$$S_n^\bullet(z) = \gamma_n z S_{n-1}(z) + S_{n-1}^\bullet(z).$$

Here, comparing the coefficients of z^n we obtain $\gamma_n = S_n(0)$, thus establishing the first of the recurrence relations in B1.

Now to prove the other recurrence relation, for $n \geq 1$ we set

$$C_n(z) = S_n(z) - a_n S_n^\bullet(z) - \gamma_n z S_{n-1}(z),$$

with $\gamma_n = \mathcal{M}[t^{-n}S_n]/\mathcal{M}[t^{-(n-1)}S_{n-1}]$. Hence,

$$\mathcal{M}[t^{-m}C_n] = 0 \text{ for } 1 \leq m \leq n.$$

Since $C_n(0) = 0$, we can follow the exact procedure as before and establish that $C_n(z) \equiv 0$ to obtain

$$S_n(z) = a_n S_n^\bullet(z) + \gamma_n z S_{n-1}(z).$$

Comparing the coefficients of z^n we obtain $\gamma_n = 1 - a_n^2$, thus establishing the second of the recurrence relations in B1.

Since $\mathcal{M}[t^{-n}S_n] = \Delta_n/\Delta_{n-1}$, we obtain from the above recurrence relation

$$1 - a_n^2 = \frac{\Delta_n \Delta_{n-2}}{\Delta_{n-1}^2}, \quad n \geq 1.$$

Here, $\Delta_{-1} = 1$. Hence from (1.3) we have $1 - a_n^2 \neq 0$, $n \geq 1$. Thus proving part B2 of the theorem. \blacksquare

3 Three term recurrence

If $a_n \neq 0$, $n \geq 1$, then from Theorem 2.1, the following three term recurrence relations can be established for the Szegő type polynomials S_n :

$$S_{n+1}(z) = (z + \beta_{n+1})S_n(z) + \alpha_{n+1}zS_{n-1}(z),$$

$n \geq 1$, with $S_0 = 1$ and $S_1(z) = z + \beta_1$, where if (1.2) holds then $\beta_1 = a_1$ and, for $n \geq 1$,

$$\alpha_{n+1} = \beta_{n+1}(|a_n|^2 - 1), \quad \beta_{n+1} = a_{n+1}/a_n \quad (3.1)$$

and if (1.3) holds then $\beta_1 = a_1$ and, for $n \geq 1$,

$$\alpha_{n+1} = \beta_{n+1}(a_n^2 - 1), \quad \beta_{n+1} = a_{n+1}/a_n. \quad (3.2)$$

From (1.1), note that $a_n = (-1)^n \frac{\hat{\Delta}_{n-1}}{\Delta_{n-1}}$, where

$$\hat{\Delta}_{n-1} = \begin{vmatrix} \mu_1 & \cdots & \mu_n \\ \mu_0 & \cdots & \mu_{n-1} \\ \vdots & & \vdots \\ \mu_{-n+2} & \cdots & \mu_1 \end{vmatrix}, \quad n \geq 1.$$

Hence to establish the above three term recurrence relations, one must assume that the moment functional \mathcal{M} is such that

$$\mu_{-n} = \bar{\mu}_n, \quad \Delta_n \neq 0 \text{ and } \hat{\Delta}_n \neq 0, \quad n \geq 0. \quad (3.3)$$

or

$$\mu_{-n} = \mu_n, \quad \Delta_n \neq 0 \text{ and } \hat{\Delta}_n \neq 0, \quad n \geq 0. \quad (3.4)$$

From (3.1) and (3.2), necessary conditions on the coefficients of the three term recurrence relation for S_n are

$$1 + \frac{\alpha_{n+1}}{\beta_{n+1}} = |a_n|^2 = \prod_{k=1}^n |\beta_k|^2 \quad \text{for } n \geq 1,$$

when (3.3) holds and

$$1 + \frac{\alpha_{n+1}}{\beta_{n+1}} = a_n^2 = \prod_{k=1}^n \beta_k^2 \quad \text{for } n \geq 1,$$

when (3.4) holds.

Now we show that any one of the the above two conditions is also sufficient for a sequence of polynomials $\{S_n\}$ satisfying the three term recurrence relation to be a sequence of Szegő type polynomials associated with some moment functional.

Theorem 3.1 *Let $\{S_n\}$ be the sequence of polynomials given by the recurrence relation*

$$S_{n+1}(z) = (z + \beta_{n+1})S_n(z) + \alpha_{n+1}zS_{n-1}(z), \quad (3.5)$$

$n \geq 1$, with $S_0 = 1$ and $S_1(z) = z + \beta_1$, where $\alpha_{n+1} \neq 0$, $\beta_n \neq 0$ for $n \geq 1$.

A) *If*

$$1 + \frac{\alpha_{n+1}}{\beta_{n+1}} = |S_n(0)|^2 \quad \text{for } n \geq 1, \quad (3.6)$$

then there exists a moment functional \mathcal{M} , with its moments $\mu_m = \mathcal{M}[t^m]$, $m = 0, \pm 1, \pm 2, \dots$ are such that (3.3) holds and for which $\{S_n\}$ are the Szegő type polynomials satisfying (1.4).

B) *If*

$$1 + \frac{\alpha_{n+1}}{\beta_{n+1}} = [S_n(0)]^2 \quad \text{for } n \geq 1, \quad (3.7)$$

then there exists a moment functional \mathcal{M} , with its moments $\mu_m = \mathcal{M}[t^m]$, $m = 0, \pm 1, \pm 2, \dots$ are such that (3.4) holds and for which $\{S_n\}$ are the Szegő type polynomials satisfying (1.5).

Proof. We consider another sequence of polynomials $\{Q_n\}$ given by

$$Q_{n+1}(z) = (z + \beta_{n+1})Q_n(z) + \alpha_{n+1}zQ_{n-1}(z),$$

$n \geq 1$, with $Q_0 = 0$ and $Q_1(z) = \mu_0\beta_1$, where μ_0 is an arbitrary non-zero real number.

Hence,

$$\frac{Q_1(z)}{S_1(z)} = \frac{\mu_0\beta_1}{S_1(z)} \quad \text{and}$$

$$\begin{aligned} \frac{Q_{n+1}(z)}{S_{n+1}(z)} - \frac{Q_n(z)}{S_n(z)} &= \frac{Q_{n+1}(z)S_n(z) - S_{n+1}(z)Q_n(z)}{S_n(z)S_{n+1}(z)} \\ &= \frac{\mu_0\beta_1\alpha_2 \cdots \alpha_{n+1}(-z)^n}{S_n(z)S_{n+1}(z)}, \quad n \geq 1. \end{aligned}$$

Hence, there exist two series expansions $L_0(z) = \sum_{i=0}^{\infty} \mu_{-i} z^i$ and $L_{\infty}(z) = \sum_{i=0}^{\infty} -\mu_{i+1} z^{-i-1}$, such that

$$\begin{aligned} L_0(z) - \frac{Q_n(z)}{S_n(z)} &= \frac{(-1)^n \mu_0 \alpha_2 \cdots \alpha_{n+1}}{\beta_1 (\beta_2 \cdots \beta_n)^2 \beta_{n+1}} z^n + O(z^{n+1}), \\ L_{\infty}(z) - \frac{Q_n(z)}{S_n(z)} &= (-1)^n \mu_0 \beta_1 \alpha_2 \cdots \alpha_{n+1} \frac{1}{z^{n+1}} + O\left(\frac{1}{z^{n+2}}\right), \end{aligned} \quad (3.8)$$

for $n \geq 1$. From these, setting $S_n(z) = s_0^{(n)} + s_1^{(n)} z + \cdots + s_n^{(n)} z^n$, we obtain $\mu_1 = \tau_{\infty}^{(0)} = -\mu_0 \beta_1$ and the set of equations

$$\begin{aligned} \mu_1 s_0^{(n)} + \cdots + \mu_{n+1} s_n^{(n)} &= \tau_{\infty}^{(n)}, \\ \mu_0 s_0^{(n)} + \cdots + \mu_n s_n^{(n)} &= 0, \\ \vdots & \\ \mu_{-n+1} s_0^{(n)} + \cdots + \mu_1 s_n^{(n)} &= 0, \\ \mu_{-n} s_0^{(n)} + \cdots + \mu_0 s_n^{(n)} &= \tau_0^{(n)}, \end{aligned} \quad (3.9)$$

for $n \geq 1$, where

$$\begin{aligned} \tau_{\infty}^{(n)} &= (-1)^{n+1} \mu_0 \beta_1 \alpha_2 \cdots \alpha_{n+1} \\ \tau_0^{(n)} &= \frac{(-1)^n \mu_0 \alpha_2 \cdots \alpha_{n+1}}{\beta_2 \cdots \beta_n \beta_{n+1}}. \end{aligned}$$

Since $s_n^{(n)} = 1$, using Cramer's rule to these equations gives

$$\Delta_n = \tau_0^{(n)} \Delta_{n-1} \quad \text{and} \quad \hat{\Delta}_n = (-1)^n \tau_{\infty}^{(n)} \Delta_{n-1},$$

$n \geq 1$, where $\Delta_0 = \mu_0$, $\hat{\Delta}_0 = \mu_1 = -\beta_1 \Delta_0$ and

$$\begin{aligned} \Delta_n &= \begin{vmatrix} \mu_0 & \mu_1 & \cdots & \mu_n \\ \mu_{-1} & \mu_0 & \cdots & \mu_{n-1} \\ \vdots & \vdots & \ddots & \vdots \\ \mu_{-n+1} & \mu_{-n+2} & \cdots & \mu_1 \\ \mu_{-n} & \mu_{-n+1} & \cdots & \mu_0 \end{vmatrix}, \\ \hat{\Delta}_n &= \begin{vmatrix} \mu_1 & \mu_2 & \cdots & \mu_{n+1} \\ \mu_0 & \mu_1 & \cdots & \mu_n \\ \vdots & \vdots & \ddots & \vdots \\ \mu_{-n+2} & \mu_{-n+3} & \cdots & \mu_2 \\ \mu_{-n+1} & \mu_{-n+2} & \cdots & \mu_1 \end{vmatrix}. \end{aligned}$$

Therefore,

$$\Delta_n \neq 0, \quad \hat{\Delta}_n \neq 0, \quad n \geq 0.$$

If we define the moment functional \mathcal{M} by

$$\mathcal{M}[t^m] = \mu_m, \quad m = 0, \pm 1, \pm 2, \dots,$$

then it is easily observed from (3.9) that $\mathcal{M}[t S_n(t)] = \tau_{\infty}^{(n)}$, $n \geq 0$ and

$$\mathcal{M}[t^{-m} S_n(t)] = \delta_{n,m} \tau_0^{(n)} = \delta_{n,m} \frac{\Delta_n}{\Delta_{n-1}}, \quad (3.10)$$

$0 \leq m \leq n$, $n \geq 1$. Furthermore, the coefficients of the three term recurrence relations satisfy, $\beta_1 = -\mathcal{M}[t]/\mathcal{M}[1]$ and

$$\begin{aligned} \alpha_{n+1} &= -\frac{\mathcal{M}[t S_n(t)]}{\mathcal{M}[t S_{n-1}(t)]}, \\ \beta_{n+1} &= -\alpha_{n+1} \frac{\mathcal{M}[t^{-n} S_n(t)]}{\mathcal{M}[t^{-(n-1)} S_{n-1}(t)]}, \quad n \geq 1. \end{aligned}$$

With (3.10), to complete the proof we need to show that $\mu_{-m} = \bar{\mu}_m$ or $\mu_{-m} = \mu_m$ for $m = 1, 2, \dots$, depending on (3.6) or (3.7).

For this purpose we consider the polynomials D_n and C_n defined by

$$\begin{aligned} D_n(z) &= \frac{\beta_{n+1} S_n(z) + \alpha_{n+1} z S_{n-1}(z)}{\beta_{n+1} + \alpha_{n+1}}, \\ C_n(z) &= \mathcal{M}\left[\frac{D_n(z) - D_n(t)}{z - t}\right], \end{aligned}$$

for $n \geq 1$. Note that D_n is a monic polynomial of degree n . From the three term recurrence relation for the polynomials S_n we can also write

$$D_n(z) = \frac{S_{n+1}(z) - z S_n(z)}{\beta_{n+1} + \alpha_{n+1}}, \quad n \geq 1.$$

From (3.10),

$$\mathcal{M}[t^{-m} D_n(t)] = \delta_{n,n-m} \frac{\alpha_{n+1} \tau_{\infty}^{(n-1)}}{\beta_{n+1} + \alpha_{n+1}}, \quad (3.11)$$

$0 \leq m \leq n$, $n \geq 1$ and thus $\check{\Delta}_0 = \mu_{-1} \neq 0$ and

$$\check{\Delta}_n = \begin{vmatrix} \mu_{-1} & \mu_0 & \cdots & \mu_{n-1} \\ \mu_{-2} & \mu_{-1} & \cdots & \mu_{n-2} \\ \vdots & \vdots & \ddots & \vdots \\ \mu_{-n-1} & \mu_{-n} & \cdots & \mu_{-1} \end{vmatrix} \neq 0, \quad n \geq 1.$$

These relations also guarantee the existence of the following three term recurrence relations for D_n and C_n .

$$\begin{aligned} D_{n+1}(z) &= (z + c_{n+1}) D_n(z) + d_{n+1} z D_{n-1}(z), \\ C_{n+1}(z) &= (z + c_{n+1}) C_n(z) + d_{n+1} z C_{n-1}(z), \end{aligned} \quad (3.12)$$

$n \geq 1$, with $D_0(z) = 1$, $D_1(z) = z + c_1$, $C_0(z) = 0$ and $C_1(z) = \mu_0$, where $c_1 = D_1(0) = \frac{\beta_1\beta_2}{\beta_2 + \alpha_2}$ and

$$\begin{aligned} d_{n+1} &= -\frac{\mathcal{M}[D_n(t)]}{\mathcal{M}[D_{n-1}(t)]} = \frac{\beta_n + \alpha_n}{\beta_{n+1} + \alpha_{n+1}} \alpha_{n+1}, \\ c_{n+1} &= \frac{D_{n+1}(0)}{D_n(0)} = \frac{\beta_{n+1} + \alpha_{n+1}}{\beta_{n+2} + \alpha_{n+2}} \frac{S_{n+2}(0)}{S_{n+1}(0)} \\ &= \frac{\beta_{n+1} + \alpha_{n+1}}{\beta_{n+2} + \alpha_{n+2}} \beta_{n+2}, \end{aligned} \quad (3.13)$$

$n \geq 1$. For example, the three term recurrence for D_n can be obtained by taking

$$\begin{aligned} D_{n+1}(z) - zD_n(z) \\ = c_{n+1}D_n(z) + d_{n+1}zD_{n-1}(z) + P_{n-1}(z), \end{aligned}$$

where d_{n+1} and c_{n+1} are such that $d_{n+1} = -\mathcal{M}[D_n(t)]/\mathcal{M}[D_{n-1}(t)]$ and P_{n-1} is a polynomial of degree less than or equal to $n-1$. Thus using the orthogonality (3.11) and the conditions $\check{\Delta}_n \neq 0$, $n \geq 0$ we can show that P_{n-1} is identically zero. Now the three term recurrence relation for C_n follows from the definition of C_n and $d_{n+1} = -\mathcal{M}[D_n(t)]/\mathcal{M}[D_{n-1}(t)]$.

Furthermore, from the definition of C_n ,

$$\begin{aligned} \sum_{i=0}^{\infty} \frac{\mu_i}{z^i} - \frac{zC_n(z)}{D_n(z)} &= O\left(\frac{1}{z^n}\right), \\ \sum_{i=0}^{\infty} -\mu_{-i-1}z^{i+1} - \frac{zC_n(z)}{D_n(z)} &= O(z^{n+1}), \end{aligned} \quad (3.14)$$

$n \geq 1$. Now using (3.6) we show that $\mu_{-n} = \bar{\mu}_n$, $n \geq 1$.

Firstly, (3.6) implies $\bar{\alpha}_n/\bar{\beta}_n = \alpha_n/\beta_n$, $n \geq 2$. From (3.14),

$$\begin{aligned} \sum_{i=0}^{\infty} \bar{\mu}_i z^i - \frac{\tilde{C}_n(z)}{\tilde{D}_n(z)} &= O(z^n), \\ \sum_{i=0}^{\infty} -\bar{\mu}_{-i-1} z^{i+1} - \frac{\tilde{C}_n(z)}{\tilde{D}_n(z)} &= O\left(\frac{1}{z^{n+1}}\right), \end{aligned} \quad (3.15)$$

$n \geq 1$, where \tilde{D}_n and \tilde{C}_n are the monic polynomials given by

$$\begin{aligned} \tilde{D}_n(z) &= (\bar{c}_1 \bar{c}_2 \cdots \bar{c}_n)^{-1} D_n^*(z) \\ \tilde{C}_n(z) &= (\bar{c}_1 \bar{c}_2 \cdots \bar{c}_n)^{-1} C_n^*(z) \end{aligned} \quad n \geq 1.$$

Moreover, from the recurrence relations (3.12)

$$\begin{aligned} \tilde{D}_{n+1}(z) &= \left(z + \frac{1}{\bar{c}_{n+1}}\right) \tilde{D}_n(z) + \frac{\bar{d}_{n+1}}{\bar{c}_n \bar{c}_{n+1}} z \tilde{D}_{n-1}(z), \\ \tilde{C}_{n+1}(z) &= \left(z + \frac{1}{\bar{c}_{n+1}}\right) \tilde{C}_n(z) + \frac{\bar{d}_{n+1}}{\bar{c}_n \bar{c}_{n+1}} z \tilde{C}_{n-1}(z), \end{aligned} \quad (3.16)$$

$n \geq 1$, with $\tilde{D}_0(z) = 1$, $\tilde{D}_1(z) = z + \frac{1}{\bar{c}_1}$, $C_0(z) = 0$ and $C_1(z) = \frac{\mu_0}{\bar{c}_1}$. Thus, using (3.6) and (3.13), comparing the coefficients of the recurrence relations in (3.16) with the coefficients of the recurrence relations for S_n and Q_n , we obtain

$$\tilde{D}_n(z) = S_n(z), \quad \tilde{C}_n(z) = Q_n(z), \quad n \geq 1.$$

Hence, comparing the series expansions (3.8) and (3.15), we obtain $\mu_{-n} = \bar{\mu}_n$ for $n = 1, 2, \dots$.

Analogously, with (3.7) we can prove that $\mu_{-n} = \mu_n$ for $n = 1, 2, \dots$, by showing S_n and Q_n are, respectively, same as the polynomials

$$\begin{aligned} \hat{D}_n(z) &= (c_1 c_2 \cdots c_n)^{-1} D_n^\bullet(z) \\ \hat{C}_n(z) &= (c_1 c_2 \cdots c_n)^{-1} C_n^\bullet(z) \end{aligned} \quad n \geq 1.$$

This concludes the proof of the theorem. \blacksquare

Observe that when $\mu_{-n} = \bar{\mu}_n$, $n \geq 0$ then $\check{\Delta}_n = \bar{\Delta}_n$, $n \geq 0$ and when $\mu_{-n} = \mu_n$, $n \geq 0$ then $\check{\Delta}_n = \hat{\Delta}_n$, $n \geq 0$.

4 Examples

1. Any choice of a sequence $\{a_n\}$ such that $0 < |a_n| < 1$, $n \geq 1$ and with this the coefficients of the three term recurrence relation (3.5) given by $\beta_1 = a_1$,

$$\alpha_{n+1} = \beta_{n+1}(|a_n|^2 - 1), \quad \beta_{n+1} = a_{n+1}/a_n,$$

$n \geq 1$, then item A of the theorem 3.1 holds. It is well known that, in this case, \mathcal{M} is a positive definite moment functional and that it can be represented by an integral with respect to a positive measure on the unit circle. The polynomials S_n are simply known as Szegő polynomials.

For example, with $\lambda > 0$, if we choose $a_n = \frac{\lambda}{n+\lambda}$, $n \geq 1$, then we obtain the polynomials $\{S_n\}$ given by the three term recurrence relation

$$\begin{aligned} S_{n+1}(z) &= \left(z + \frac{n+\lambda}{n+\lambda+1}\right) S_n(z) \\ &\quad - \frac{n(n+2\lambda)}{(n+\lambda)(n+\lambda+1)} z S_{n-1}(z), \end{aligned}$$

$n \geq 1$, with $S_0(z) = 1$ and $S_1(z) = z + \lambda/(\lambda + 1)$. These are the Gegenbauer-Szegő polynomials orthogonal with respect to the moment functional \mathcal{M} given by

$$\mathcal{M}[f] = \int_0^{2\pi} f(e^{i\theta}) |\sin(\theta/2)|^{2\lambda} d\theta.$$

Note that the coefficients $a_n = \frac{\lambda}{n+\lambda}$, $n \geq 1$, being real imply item B of the theorem 3.1 also holds.

2. Given $\ell > 1$ let the sequence of positive numbers $\{\ell_n\}$ be given by

$$\ell_0 = 1 \quad \text{and} \quad \ell_n = \frac{(1 + \ell)^n - (1 - \ell)^n}{(1 + \ell)^n + (1 - \ell)^n} \ell, \quad n \geq 1.$$

Let $\{S_n\}$ be the sequence of monic polynomials generated by the three term recurrence relation

$$S_{n+1}(z) = (z + \beta_{n+1})S_n(z) + \alpha_{n+1}zS_{n-1}(z),$$

$n \geq 1$, with $S_0 = 1$ and $S_1(z) = z + \beta_1$, where

$$\beta_n = -\frac{\ell_n}{\ell_{n-1}}, \quad \alpha_{n+1} = -\frac{\ell_{n+1}}{\ell_n}(\ell_n^2 - 1), \quad n \geq 1.$$

Both item A and item B of the theorem 3.1 hold.

The polynomial S_n are the Szegő type polynomial associated with the moment functional \mathcal{M} given by

$$\mathcal{M}[f] = \int_a^b f(t) \frac{1 + t^{-1}}{\sqrt{b - t}\sqrt{t - a}} dt,$$

where $a^{-1} = b = (\ell + \sqrt{\ell^2 - 1})^2$.

3. Given $0 < q < 1$ let $\{S_n\}$ be the sequence of monic polynomials generated by the three term recurrence relation

$$S_{n+1}(z) = (z + \beta_{n+1})S_n(z) + \alpha_{n+1}zS_{n-1}(z),$$

$n \geq 1$, with $S_0 = 1$ and $S_1(z) = z + \beta_1$, where

$$\beta_n = -q^{1/2}, \quad \alpha_{n+1} = -q^{1/2}(q^{-n} - 1), \quad n \geq 1.$$

Again, both item A and item B of the theorem 3.1 hold.

The polynomial S_n are the Szegő type polynomial associated with the moment functional \mathcal{M} given by Moment functional

$$\mathcal{M}[f] = \int_0^\infty f(t) t^{-1} e^{\left(\frac{\ln(t)}{2\kappa}\right)^2} dt,$$

where $\kappa^2 = -\ln(\sqrt{q})$.

Referências

- [1] C.F. Bracciali, A.P.da Silva and A. Sri Ranga, Szegő polynomials: some relations to L-orthogonal and orthogonal polynomials, *Journal Comput. Appl. Math.*, **153** (2003), 79-88.
- [2] A.K. Common and J.H. McCabe, The symmetric strong moment problem, *J. Comput. Appl. Math.*, **67** (1996), 327-341.
- [3] W.B. Jones, O. Njåstad and W.J. Thron, Moment theory, orthogonal polynomials, quadrature, and continued fractions associated with the unit circle, *Bull. London Math. Soc.*, **21** (1989), 113-152.
- [4] B. Simon, *Orthogonal polynomials on the unit circle. Part 1. Classical theory*, American Mathematical Society Colloquium Publications, vol. **54**, part 1, (American Mathematical Society, Providence, RI, 2005).
- [5] B. Simon, *Orthogonal polynomials on the unit circle. Part 2. Spectral theory*, American Mathematical Society Colloquium Publications, vol. **54**, part 2, (American Mathematical Society, Providence, RI, 2005).
- [6] A. Sri Ranga, E.X.L. de Andrade and J.H. McCabe, Some consequences of symmetry in strong distributions, *J. Math. Anal. Appl.*, **193** (1995), 158-168.
- [7] G. Szegő, *Orthogonal Polynomials*, 4th ed., Amer. Math. Soc. Colloq. Publ., vol. **23**, (Amer. Math. Soc., Providence, RI, 1975).
- [8] L. Vinet and A. Zhedanov, Szegő polynomials on the real axis, *Integr. Transforms and Spec. Functions*, **8** (1999), 149-164.